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Answers to additional problems
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Using eqn. (23.3), the determinant = (2 X 5) — (1 X -3) = 13. We can write an inverse
matrix because this value is not zero.

5 3
Equation (23.11) gives the inverse of the square matrix as, %[ 1 9 j

1( 5 3)(5) (x)_1(Gx3+Ox3)) 1(52) (4
13(-1 2 )l9) |y} 13\Gx-D+9x2)) 13(13) (1

Therefore,x = 4,andy = 1.

1 0 O
Simple matrix multiplication yields the product, BC=|{0 1 0 |
o o0 1

For example, the first elementa  is (<15 X 1) + (2 X 2) + (-3 X -4) =-15+4+12=1.
Since this 3 X 3 matrix is the identity matrix, I is proof positive that B and C are inverses.
Similarly, CB=1.

a 5b
) =ax4a-3ab® x5b=4a*-15ab> = a(4a—15b°)
3ab 4a
1 2 5
2 0 2 0 2
detA=|2 2 0|=1 -2 +5
4 3 0 3 4
0 4 3

SO detA=1X{(2%x3)-(0%x4)} -2 x {(2%x3)-(0x0)} + 5{(2x4) - (2x0)}
and detA=6-12+40=234.
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